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UNIVERSITY OF NORTH BENGAL 

B.A. Programme 1st Semester Examination, 2023 

DSC1/2-P1-SANSKRIT (101) 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 UNIT-I  

1. Answer any one question from the following: 12×1 = 12 

 (a) Write a detailed note on the departure of  शकुÆतला from the Hermitage of  कÁव ।  

(b) Justify the Comment: ‘उपमा कािलदासÖय’ ।  

   

2.   Explain any one of the following: 6×1 = 6 

(a) इद ंिकलाÓयाजमनोहर ंवपÖुतपः±मं 

 साधियतुं य इ¸छित । 

ňवुं स नीलोÂपलपýधारया 

 शमीलतां छे°मुिृषÓयªवÖयित ।। 

 

(b) आ पåरतोषाद ्िवदषुां न साध ुमÆये ÿयोग िव²ानम् । 

बलवदिप िशि±तानामाÂमÆयÿÂययं चेतः ।। 

 

   

3. Translate into English or Bengali any two of the following: 3×2 = 6 

(a) ययातेåरव शिमªķा भ°ुªबªहòमता भव । 

सतंु Âवमिप सăाजं सेव पŁुमवाÈनिुह ।। 

 

(b) अथō िह कÆया परकìय एव 

तामī सÿंेÕय पåरúहीतुः । 

जातो ममायं िवशदः ÿकामं 

ÿÂयिपªतÆयास इवाÆतराÂमा ।। 

 

(c) न खलु न खल ुबाणः सिÆनपाÂयोऽयमिÖमन्, 

मदृिुन मगृशरीर ेतूलराशािववािµनः । 

³व वत हåरणकानां जीिवतं चाितलोलं 

³व च िनिशतिनपाता वûसाराः शराÖते ।। 
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4. Answer any two of the following: 3×2 = 6 

(a) Who were the parents of ‘शकुÆतला’ ?   

(b) Who is the writer of the drama अिभ²ानशकुÆतल ? Write an another Drama of this 
writer.   

 

(c) Who was कुलपित ? Why was he so called ?   

(d) What is the song sang by नटी ? Write in Devanagri script.   

   

 UNIT-II  

5. Explain (a) or (b) : 12×1 = 12 

(a) कतुªरीिÈसततम ंकमª, हेतौ, उपाÆवÅयाङ्वसः,  

(b) येनाङ्गिवकारः, साधकतम ंकरणम,् अकिथत¼च ।  

   

6. Account for the case-endings any three : 1×3 = 3 

(a) जपमन ुÿावषªत् ।  

(b) मातुः िनलीयते कृÕणः ।  

(c) रामः वनम ्उपवसित ।  

(d) पशुना Łþं यजते ।  

(e) नरषे ुāाĺणः ®ेķः ।  

(f) úाम ंसमया नदी वहित ।  

   

7. Expound and name the समास any three : 1×3 = 3 

 अनłुपम,् वीणापािणः, िýमुिन, यथाशिĉ, नीलोÂपलम् ।  

   

8. Give the resulting forms of the following (any six)  1×6 = 6 

 यज् + ĉ, पच् + ĉवतु, कृ + तÓय, िभद ्+ ĉ, भजु ्+ तुमुन,् कृ + Áयत्, पा + अनीयर,् आ-दा + 
Ðयप्, सेव + शानच् । 

 

   

9. Join and dis-join the सिÆध any six of the following: 1×6 = 6 

 महा + अणªवः, रमा + ईशः, नौ + अकः, इित + आिदः, 

नैव, दÂेयाåरः, चेयम्, मÅवåरः । 

 

 
——×—— 

 

 


